Given below are two statements :
gtatement I According to a World Bank working paper, extreme poverty

in India dropped to 10.2% in the pre-Covid year of 2019 from as much as 22.5%

in 2011.

ro

Statement IT : The paper uses the Consumer Pyramids Househéld Survey

(CPHS) to provide estimates of how poverty and inequality in India have evolved

since 2011.

In the light of the above statements, choose the most appropriate answer from

the options given below :
(A) Both Statement I and Statément IT are correct
(B) Both Statement I and Statement II are incorrect
(C) Statement I is ;:orrect aﬁd Statement.II is inéorrect
(D) Statement I is incorrect énd’Statement II is co’r;ect
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2. Given below are two statements :
Statement I : Development expenditure of the Central Government does not
include defense expenditure and grants O states. 5
Statement I1 : Non-development expenditure involves Interest payments an
Subsidies. _ -
In the light of the above statements, choose the most appropriate answer
the options given below :

(A) Both Statement I and Statemen
(B) Both Statement I and Statemen

(C) Statement I is correct and Stateme .
(D) Statement I is incorrect and Statement II is corr
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3. Given below are two statements : _
Statement I : Deficit financing cannot create inflation in an economy.
Statement IT : If RBI reduces the cash reserve ratio, the credit creation will

t JI are correct

t II are incorrect
nt II is incorrect
ect

decline. ; - , '
In the light of the above statements, choose the most appropriate answer from

the options given below : g .

(A) Both Statement I and Statement II are correct

(B) Both Statement I and Statement II are incorrect

(C) Statement I is correct and Statement II is incorrect

(D) Statement I is incorrect and Statement 11718 cofrect
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4. Given below are two statements :
Statement I : Low-income countries (LICs) and lower-middle-income countries

(LMICs) have high prospective growth rates and high marginal productivities
of capital.

Statement II : They should borrow, and borrow heavily, in order to finance

a broad-based increase in investments on human capital (education and health),

public infrastructure (power, digital, water and sanitation, transport) and

environmental protection.

In the light of the above statements, choose the most appropriate answer from
the options given below :

(A) Both Statement I and Statement II are correct

(B) Both Statement I and St';atement II are incorrect |

(C) Statement I is correct and Statement II i'sAincorrect

(D) Statement I is incorrect and Statement II is correct
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5. Given below are two statements :
Statement I : The average SDG Index score declined in 2021 as compared
to 2020, partly due to slow or Hon-existent recovery in poor and yulnerable
countries.
Statement I : Among G20 member states, the United States, Brazil and the

Russian Federation exhibit most support for the 2030 Agenda and the SDGs.

In the light of the above statements, choose the most appropriate answer from
the options given below : |
(A) Both Statement I and Statement II are correct
(B) Both Statement I and Statement II are incorrect
(C) Statement I is correcf and Statement II is incorrect
(D) Statement I is incorrect a;nd Statement II is correct
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1" 6. .Consider the following statements :

. : ; .+ where plans to save ang
(1) If Indian economy is in cquilibrium at the point

| . t be equal
; b Bavaat  ms nment expenditure mus q to
| o mvest are equal, then govrnme

l government income

: : . ham Committee, the
(2) In pursuance with the recommendations of Narsim

; hange bank
! RBI has framed new guidelines to setup more foreign exchang ]

istri i 6 1 lities includ
| (3) Redistribution policies geared to reduce economic inequall e
progressive tax policies
. . ‘ot ‘n Tavl
(4) The currency convertibility concept in its original form orlgmated in Taylors

Agreement

Choose the correct answer from the options given below :

(A) (1) and (3) only B) (2) and (3) only

| (C) () and (@) only () (2 and (4) only
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7. Consider the following statements :
(1) Gross capital formation consists of outlays on additions to the fixed assets

of the economy plus gross changes in the level of inventories

(2) Net value added at factor cost is the sum total of all the factor payments
(3) The National Income is the total amount of income accruing to a country

from economic and non-economic activities in a year time

'(4) In moving from national income to personal income we must subtract the

incomes earned but not received and add incomes rc_aceived but not currently"
earned | |

Choose the correct answer from the _optiqns given below :

(A) (1) and (3) only (B) (2) and (3) only

(©) (1) and (4) only (D) (2) and (4) only
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8.  Consider the following statements :

(1) The green economy could add more than 54 million jobs worldwide by 2030
(2) World over the addltxonal investment to avoid future pandemics is estlmated

to be only $15 billion a year

(3) Over 90 percent of countries saw their HDI value drop in either 2020 or
2021

(4) The economic gams from phasmg out coal could amount to as much as

1.7 percent of global GDP every year
Choose the correct answer from the options given below :
(A) (1) and (3) only " (B) (@) and.(3) only
(C).El) and (2)‘ ool L (R (3) and.(4) only
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9. Consider the following statements :

(1) The Positive Peace Index measures the positive peace of 143 countrieg
(2) Tt covers 59.6 percent of the world population

®) Positive peace is defined as the attitudes, institutions and stryctupeg that

create sustain peaceful societies

(4) It is based on more than 45,700 data‘ series

Choose the correct answer from the options given below -

(A) (1) and (3) only |

(B) (2) and (3) only

(© (1) and (2) only

(D) (3) and (4) only

Frfafen st ® fem wafey @

(D) WWW143M%%W@'W% |
(2)3141‘#1%433#59.6%3#@@;"%% ‘j

H I ST ., el s e # o

TS e S o e w8

(4) %457ooéwmaamﬁqmawﬁa%

N el T feree Ao e p— HiT

W) T3 (1) ¢ir (g) ‘

B) =7@ (2) i (3
Q) F=m (1) s 2)

©) %3 () s (g

TBC 2/P1—C

9 P.T.0.

Sconned with CamScannnot



10. Consider the following statements :

(1) The Global Health Sccurity Index is a measure of pandemic (COVID-19)
preparedness
(2) Compared with the rest of the world, a higher percentage of people in OECD

countries tend to be covered by public or mandatory private health
Insurance

(3)

"30 x 30" target relates to poverty eradication

(4) World over, cities and other urban areas are home to around 25 percent
of humanity

Choose the correct answer fx'c;m the options given below :
(A) (1) and (3) only

(B) (2) and (3) only

(©) (1) and @) enly”

(D) (3) and (4) only
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11. Match List T with List IT

List 1

(@) Gini cocfficient

(b) PISA score

(O s
-t

@?\\'\wb'-‘

(¢) Human Trophic Level

(d) Palma ratio

(1)

(i1)

(tii)

.(iv) :

List I
4 measure of the energy intensity
of diet composition
assesses how far students near the
end of compulsory education have
acquired some of the knowledge
and skills that-are essential for full
participation in society
measures the extent to which the
distribution of income among

individuals or‘ households within

an economy deviates from a

. perfectly équal distribution

The share of all income received

by the 10% people with highest

' disposable income divided by the

share of all income received by the
40% people with the lowest

disposable income

Choose the correct answer from the options given below :
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12. Match List T
I/th I

(a) Conglomera te

b) Golden handshake |

() Blue Chip

(d) Laissez Faire

Choose the correct answer from the options giveh below :

@ @ @

A) @i @) @ (@)

®) ) Gi) G (@)

© O G ) @

D) @ 6) G Gi)
TBC : 21/P/1I—C
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(@)

(3]

(iif)

(iv)

. form of economic intervent

List TI

The company that has acquired

interest in different industries bY
ith other

taking over or merging W
companies

an economic system in which

transactions between private

groups of people are free from any

ionism
‘an employment agreement which
states that the employer will

provide a significant severance

package if the employees loses

their job

stock in a stock corporation with
a natlonal reputatlon for quality
reliability, and the ability to
operate prpﬁtably in good and

bad times
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13. ‘Day Zero’ refers to which city as South Africa ?
(B) Durban
(D) Pretoria .
‘T S’ w1 Wy et emeiet @ TR YR A § 2
(B) st@&T

(D) sﬁz’rﬁm

(A) Johannesburg
(C) Cape Town

(A) Srg=aa
| (C) YA .
h 14. ECOLEX is controlled by :
(A) FAO
ﬁ (C) UNFCCC
' TR T g ® e
(A) TH.U.3. &
©) g um.HLaLd. &1

TBC : 21/P/I—C
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Most of the air pollution that we experience is located in :

15.
(A) Mesosphere (B) Thermosphere
(C) Stratosphere (D) Troposphere
meﬁwmﬁﬂﬁf@ﬁﬁ@ﬁmﬁzﬁm%?
(A) AR HE (B) dmHsd
(C) IS D) &sd
16. Deep underground reservoir of water are called as :
(A) Karst (B) Aquifer
(C) Buffer (D) Baseflow
TR T S & wUgR I Sl Sl T
@A) FE A (B) wud
(C) &l (D) SMURYd Hdle
17. Who gave the conéept of biodiversity hotspots ?

(B) Norman Myei's

(A) E. P. Odum :
(D) Rachel Carson

(C) James Lovelock
Safsfava deeme F1 @R i A
@A) % . 3 (B) A wEH
(C) = dEdh (D) TEA HREA

18. Which of the following sanctuaries is not known for tigers ?
(A) Kawal Sanctuary (B) Kaziranga National Park

(C) Dudhwa National Park (D) Hazaribagh National Park
et § @ FR AR H R ® fa T S S ¥ 2
(A) Faa AT (B) HEW UL TEH
() Tya TG M ' (D) e U & A

19. When was the process of identifying the kejr Biodiversity Areas started in India ?

(A) 1972 . : (B) 2003
(C) 1998 (D) 2007
WﬁWWwﬁﬁmmmmWMW ?
(A) 1972 (B) 2003 '
(C) 1998 (D) 2007

PT.O,
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20. Match List I with List II : : .
List I List II

(Air Pollution Incident) (Country)
(@) Meuse (1930) (@) England
(b) Donora (1948) (i) India
(¢©) Bhopal (1984) (i) USA |
(d) London (1952) (iv)" Belgium |

Choose the correct answer from the options given below :
@ ) @© @ |

A G G @ 6

B) Gv) Gi) G @)

©) () G ° G G

(D) @) Gv) @ @)

TR 1w G I Y e FiR

et 1 Tt 11

(aTg YEHUT ) | (@

(@ HgE (1930) | G) TS
(b) THAR (1948) (i) “urd

() ¥ara (1984) @ . Gii) 4 TET

(d) &<A (1952) - () Sfesam -
Y gy e fawed § @ W@ IW H FET FOT
@ ) «© @ '

&) G G @ @
B) Gv) GiE) @ @)
© G G Gi) G
D) Gid) Gv) G) G
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21. Match List T with List I 3
List I
1JiS‘, II
(Plant Name Local)
(State)

()  Telangana

(a) Toona
») Khejri 2

) Khejri (ify Manipur
() Alder

d J ammni

(iii) Rajasthan
(lv) Nagaland

Choose the correct answer from the options given bel
oW :

@ ® © @
(A) (@i) i) (@) (iv)
(B) Gi) @) @) - @)
©) G) G @O @)
@) @) @ @O @
Gl ol il | SCRESIE Hifsd ¢
el g 11

@) T o) %m; .
®) TwE X
(c) Qﬁ’;{ | ) mﬁa—{
- ol : (i) TR
' (tv) HWI@WE

3 m T fawedl ﬁ q HEl SW A W
@ ®) @ @ _ﬁm:
@A) @) @) 6. G
B) G) Gi) Gv) @)
@ @ G @ G |

(D) (i) '
( o
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22. Match List I with List II : :

List I List II
(Sanctuary) | (Location)
(@) Bhadra ' | (1)  Jharkhand
(0) Dalma (1)  Tripura
() Gumti (iii) West Bengal
(d) Jaldapara (iv) Karnataka

Choose the correct answer from the options given below :
@ ) () @
(A) @) @) G) @)
B) G&) Gi) (o) @)
C) @) @& @) Gi)
O & G G Go)
I h1 gl I 9 faem st

= I _ it 11
(ITARTT) . N ; ()
(@ = ‘ () FRES
(b) ST | @) Tgu
© T e (i) el s
(d) STeETIRI (jv) wTich

i 4 fey g fawed # @ WE IW B T PO
@ ® © @ |
A) - Gv) @) G 6
B) Gii) G) Gv) O
©) Gv) G Gi) Gii)
M & @) Gi) Go)
TBC . 21/P[1—C ‘ 18



23. Match List I with List II : :

List I List 11
(Wetland) (State)
(@) Deepor Beel @) Kerala
) Ast,h:;mudi ) (i) Assam

(c) Lolktak (iit) Punjab

d) Kanjali (tv) Manipur

Choose the correct answer from the options given below :

@ ©® @ @

A G G @ @) ' 2
@ G O G 6@ . - &
© @ @ O @ . [ @bl P
O G 6 @) G | '
T 1w e I8 e Hifsd
RCUR SR J = 11
(Se<te) @
(@) SR i @
(b) TSl . 11 G s
- m | O Gip) deE
;f[l; :Zm L C (iv) TR
| A N
@ e © @
(A) @) (D) @) (iv)
o e
DG (o)
- D@ O @
.IBC . 21/P/I_¢
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24. Match List I with List II : :

List I List II
(Policy) (Year)
(@)  Wildlife (x) 1992
(0) Forest - @) 1972
(c) Environment (i) 1988
(d) Pollution (v) 2006

Choose the correct answer
@ B @ @
(A) @) @) Go) @)
B) @) @) @) (iv)
©) @) Gv) G @)
D) @ @@ Gv)  Gi)
T I H gE IR e whe

from the options given below :

= 1 s o} e I

(qifert) y - W)
(@) =S G 1992
®) =A - | @) 1972
(¢) Tafaw . (i) 1988
d) 9gu _(Gv) 2006

i fSu T fawedi § F WE W w1 99 &ifeu
@ B © @ . |
(A) @) Gu) Gv) @
B) G) G @) Gv)
| (C) @) G@v) @) @
! D) G) G Gv) G)

25. Fats are made from edible oils using the process of :

(A) Saponification (B) Esterification

(C) Catalytic hydrogenation - (D) Hydrogenation

@ ol ¥ qw e ufem @ ST we 9 s ¥

(A) FdfafEhym (B) wEHiftheyH

(C) Harfafes amSsHIwT - (D) EIESISHTERT
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26.

The main precursors of winter smog are G py

(A) NyO and hydrocarbons (13) NO, and hydrocarbons
(C) SOy and hydrocarbons (D) SO, and ozone
gw & H&T 3Ugd o
W AR BIEGIDIE s (13) NO,, 3y ?Ts?ﬁ?FFh
() 50, 3 TEEIHE (D) S0, it A
Most kidney stones are composed of :
o (A) Calcium carbonate (B) Calcium oxalate
(C) Magnesium carbonate (D) Magnesium oxalatg
s T F w frefafed /s el R
(A) SfeEd HEAL ' L (B) ey e - . (
(C) FAfEs HEe (D) Ariifgem i © Wnn, Cran. Come
98. There are two statements given below : ¢
Statement I : A traveler crossing the 1nternat10na1 date line from east to west
loses a day.
Statement II : A traveler crossing the international date hne from west to
east gains a day. A
In the light of these two statements, choose the most appropriate answer from
the options given below : : . .
(A) Both Statement I and Statement II are correct
(B) Both Statement I and Statement II are incorrect
(C) Statement I is correct and Statement 11 is incorrect -
(D) Statement I is incorrect and Statement II is correct.
i 31 F fE M §
é?n% I: 74 ] qﬁaqﬁaﬁ?ﬂﬂﬁ@ﬂﬁfa%@ﬁwwmmﬁ@m@
[
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ERlE| S
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T A T ¥
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29. There are two statements givcn below

30.

- TBC : 21/P/1—C

Statement I : Steam produces less severe burns than water at the samg

temperature.

Statement IX : Dry ice is colder than regular ice.

In the light of these two statements, choose the most appropriate answer from
the options given below :

(A) Both Statement I and Statement II are correct

(B) Both Statement I and Statement II are incorrect
(C) Statement I is correct and Statement II is incorrect
(D) Statement I is incorrect and Statement II is correct

ﬁ%ﬁ%mmm%

A I : mwammmvﬁraﬁgmﬂﬁwmﬂtwﬁam%l
w1 : gel o% Fafd 96 &1 gom 8§ 3t ont ¥
ﬁﬁaaﬁ@mﬁﬁmmﬁmﬁﬁqﬁwmwmw
ST

(A) ®uF I 3R wud I 39 Od §

(B) ®¥A I 3R wud II <H1 7o ©

(C) g4 I Wal & 3R &y I Ted ®

M) Fo1 I Tod & AR &eA I &l ©

Arrange the following electromagnet1c waves: accordmg to the increasing
frequency :

(1) Gamma rays p LG X—rays
(3) Radio waves o, ‘  (4) Microwaves
A) 3), @), (2), 1) - (B) (1), (2), (4), (3)

(C) (2), (1), 4), 3) : D) @), 3), (), (2)
Fretfefin fogagma 7T # Tad SR @ SEER SRR w
(1) T feRee O © T\l

@) Wea T | | (4) wEH A

@A) (@), @), @), Q) - ®B) @), @), @), 3

G @), (D), @), (3) D) ), 3), ), (2)
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ge the following atmospheric layers in the correct order from the surface

31. Arran
of the carth :
1) Mesosphere (2) Troposphere
(3) Thermosphere (4) Stratosphere
@A) @, @, @) M B) @), (2), (3), (V)
(C) 2), 4), (L, 3) D) 3), (1), (4), (2)
freAffEd qrFee T W O Fowwe ¥ wdh ww A oEfem wo
(1) TR (2) =ivyHsd
(3) TATERIAR - (4) gHAHed
A) (2), @), 3), @) - B) 1), (2), 3), (V)
©) ©2), @), @), 3) D) (3), (1), (4), (2).

39. Consider the given four statements and choose the cofr;ect answer from the
given options : : |
(1) A concave mirror is a diverging mirror
(2) Image formed by a concave rrﬁrror 1s generally real and iﬂverted
(3) A convex mirror is a converging mirror ‘
(4) Image formed by a convex mirrdr ié al
(4) (1) and (2) only |
(B) (1) and (3) only
(C) (2) and (4) only
(D) (3) and (4) only

ways virtual, erect and diminished

(4)33(73&01? ' : ’
T Freq ‘
® 373 (1) oy () wfafsra glen smomedt, when ofk St A ¥

Oy ®) Fw W @
(D) Hae (3) 3R (4)
23 '

TBC ; o
_' /I C P.T-OO

sconned with CamScannnt



33. Consider the given four statementg about ethanol and choose the correct answe,
from the given options :
(1) It is the main constituent of all alcoholic drinks

(2) It is not a good solvent
3) It is soluble in water in all proportions
(4) It cannot be used as an additive ‘inv'petrol
(A) (1) and (2) only |
(B) (1) and (3) only
(©) (2) and (4) only
D) (1) and (4) only , R
sirtter % R o T o e o o feg o faedt 4w o
) T Wit e oW e s ¥
©) T T T e R
(3) @& wfi orguet H o F gerwiw &
" @Wﬁmgmﬁgﬁmqﬁmmw%

(A) &ad (1) AR (2)
B) Haa (1) AR (3)
(C) He (2) I (4)
(D) Hae (1) AR (4)

TBC : 21/P1—C
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b g : :
34. Match List I with List IT and choose {he correct atdSar from the given options :

List X List 11

(Acid) (Source)
(@) Ascorbic acid ) Apples and pears
() Malic acid | (1)  Ant stings
(¢) Formic acid - (@) Tamarind and grapes
(d) Tartaric acid ‘ (fv)  All citrus fruits
Codes :

@ ® © (@
A G) G ) @)
(B) (@Gv) (D) (ii? @)
(C) Gv) @ @) @)
D)  (@v) . Gii) (L) (it)

I | | |
. T‘ﬁ B
. @)
Vi e o O W o T
b) Hiew s w
© wiw e - i 3y
@) RfRF o | L.u) e a?r{ £
T - UPSC
@ ® © @
B @) g @) )
B) (i) i) (ip) ()
g; ) @ (if) (iii)‘
- @) i) @ Gp
P21/ ' 25 - o

v I ST T
5" .



35. Match List I with List IT and choose the correct answer from the given Options.

List I List II
(@) Hydrophone ()  An instrument measuring the
rotation speed of a shaft or disk
()  Megaphone (i)  An instrument that measures winq
speed
(¢)  Anemometer (iii) An instrument that spreads sounq -

to far-off places
(d) Tachometer (iv) An underwater device that detects

and records ocean sounds from all

directions

Codes : .
@ O © (@@
A) Gv) G) Gid) @)
B) @ @) G Go)
C) @ @) Gv) @)
D) Gv) G GG @ -3
T 1w g I ¥ gifem Aife sl R e feed A & W@ SO

et 1 g 10

(@ TEEHE @) TR A feww W oM N A @

(b) HMHE " | (ii) @Wﬁ%mﬁﬂﬁaﬁm%

¢) THEHER | (i) T ITH S G- TF A B €

(c) s | !

(d) HhHEX - | (iv) o & AN H TE SuR sl
{ wHR S T e g i R
T '

H_E

i | @ ® © @
(A) Gu) G @) @
B) @ (i) @) (@v)
© @ G G GiD)
o Gy Gi) G G -

TBC : 21/P1I—C 26




56, Which of the following statements is correct ?

. near
@) ‘Dhauladhar Range’ branches off from the Great Himalayan Range

Badrinath
@) The Pir-Panjal range separates the drainage of the
of the river Beas.

river Spiti from that

; ' . iti and
(iii) The Zanskar range is the easternmost range which separates Sp

Kashmir from- Tibet. _ C—
(iv) The ‘Gumrang and Sholarang’ passes connect the basin of the T

Chandrabhaga with its basin in Tibet.
(A) (iv) only : © (B) () and (iii)‘
(C) (i) and (iv) (D) (i) only -
frefefad § ¥ SHW I W ¥ 2 - | |
(i) ‘s e’ w wrerd wine % ww de feer geaer | et €
(i) dr-tdee Avi wifa T F @ Frewt e A W ot S §
(iii)sie Aoft Wl g Aot ¥ S wifq o e w1 foea @ ewem wwdt ¥
(iv) T @R v’ < dgarm T B S9fEE w6l fied d 39 3w ¥ e €

(A) (iv) HadA
(C) (@) 3R (v)

(B) @) 3R (i) g
D) (i) Haa

37. Select the incorrect combination from the following :

() Bahadurpur and Bandla ranges
(1) Markanda and Dharti ranges

(izi) Chandertal lake

(v) Source of Pérvati river
(A) (i) and (ip)

(C) ), (iti) and (o) . =
Frefefen & 4 wom g £
i '

(0 T it e
@) it g B

Demi valley ‘
Dun and Sproon valleys
- Kunzam range

Mantilai lake

(B) (iv) only |

(D) (i) only -

Wﬂﬁﬁl’&
2 =
T SR Ty el
- . Hfees #aA
(B) (iv) ®ad

(D) (i) e

27 ' l B0,
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38. Which of the following statements is correct ?

39.

() According to G.A. Grierson, Kehluri is an offshoot of rude Punjabj,
i) Kinnauri-Jangram mixture is the dilect used in Rakcham and Chitky

villages of Sangla Tehsil.
Gii) The dialect spoken in the Rampur Bushehr,
and in the nearby parts of the Satluj valley is called Kochi.
(iv) According to Dr. Bholanath Tiwari, Pahari Janguage originated from Dayg;
~and Pishchi’.
(A) (v) only (B) (iii) only
(C) (), (i) and (i) (D) (i) and (iv) only
frofefeg o ¥ S RO W T '
@) ﬁ-n-W$W%ﬁﬁmwmﬁ@w%l |
(if) W—Wﬁﬂaﬁwmiwﬁﬂwﬁﬁ%mm
ol | | ~
(iii)ww,m@ﬂaﬁtmasﬁﬁnwmﬁ@m%ﬁaﬁﬁm
S A S e wE < | _ s
(iv) Sf. WHW¢W,WWﬁm‘ﬁ3ﬁTW'@§%I
(A) (@v) Hhad (B) (@iz) hed '
©) ), (i) 3R (i) (D) (i) I (v) FIA
Select the incorrect statement from the following :
() The Khunds’ 'are the martial people of ‘Kangra.
(i) The most popular dance of Kinnaur is ‘Kayang’.
(iii) ‘Burah’ is a famous grou'p dance of Mandi. _
(iv) The Buddhist people of Lahaul-Spiti and Kinnaur perform mask dances.
(A) (ii) and (@) (B) (i) and (iv)

Kumarsain and Kotgarh regions

" (C) () and (i) ' (D) (i) only

ﬁmﬁrﬁ@ﬁﬁ@ﬂmmmwwmz

() ‘@'m%ﬁr@%u

(if) wmm@mw‘w'%|
(iii)‘@’ﬁﬁmmmﬁ%l
(iu)arira—?ﬁﬁiafnﬁﬁﬂaﬁzﬁzaﬁﬂg@aawm%i

(A) (@) SR (itd) | | (B) (i) 3 (iv)
(C) () 2 (i) (D) (i) aa

TBC : 21/P/I—C o8
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40. Which of the following statements about ‘Jal-Jeevan-Mission’ is 710

i oviding
@) In H.P. it is targeted to include every rural houseshold in Pr

: i June,
‘Functional Household Tap Connection (FHTC) to every family by |

2022.
(i) Out of 17.28 lakh households 15.80 lakh were provided FHTC upto

December 2021
i) In Himachal Pradesh 91% of the households have been provided with

domestic connection against a national average of 45.50 percent.

(iv) Himachal Pradesh places at 8th pos‘iti'on in the country for providing FHTC.

(A) All of the above (B) Nohe of the above

(© ) and Gii) O D) and Gv)

EEREEICER N afaﬁﬁﬁ%ﬁ@ﬁﬁ@ﬁWWWFﬁ‘!ﬁ% ¥

@ ferme wwr § 9, 2022 GF YAF GRER @Y WWWWW
(TH.TEA ) m%ﬁﬁmuﬁmuﬁwﬁwﬁamﬁ‘wa&a%l

(i) 17.28 wr@ qiew} & 15803@%@&?&'{ 2021 T TH.EAH. WH
e il | .

(‘“)%Waﬂuimﬁm%vﬁaﬁﬁqiqﬁmm'%mm%,m@w%
45.50 Whmm %

_“v LRGNy W w2 A ared e w

Al T U - (B) Sugad #H ¥ HI TEH

) (i). ﬁ‘(iii) ' - ‘ (D). (it) 3R (iv)

TBC . Wer_e 5o P.T.0.

; ; Rk e S A




41. Select the correct statements from the following :

(¥)

(@)

(ti1)
(v)

(A)

(©)

Supreme Court of India has allowed the State for silviculture green felling

of three species on experimental basis.

Forests in H.P. cover an area of 37947 sq. kms of total geographical area

of the state

In H.P. presently 30% of the total geographical areas support forest cover.
The'aim of the forest department is to enhance .the forest cover in the
state to 35% of its geographical area by 2030

(iif) and (w) (B) () and @) -

(@), (i) and (i) . (D) None of these

ﬁwﬁff@aﬁﬁvﬁawwwﬁﬁq

@)

Wa}mﬁaw%mﬁaaﬂmmmﬁaﬁmﬁﬁﬁﬁ%—oﬁw
%ﬁm‘%ﬁa@rﬁ{ﬁ%l

(if) %ﬂmﬁmﬁaﬂn—q%wsﬂrﬁmaﬂﬁsnuaﬁmtﬁa@maﬁ

Eﬁatm%%'

(zzz)mmﬂaﬁ?ﬁm&ﬁvﬁmf?ﬁ’tmso%awwmwd'—rm%l
(iv)mﬁmwmzosowwﬁaﬂ@3@35%%%3%@

(A) (iii) 3R (iv)
(O (@), (i) 3R (iii)

.TBC:

%l
(B) (@) 3R (i)

(D) ¥ ¥ W I

21/P/1—C 30
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{ answer from the codes given

42. Match List-I and List-II and select the correc
below :
List-I List-IX
(i) Total geographical area of H.P. (@) 55.67 lakh hectare
(i) Total area of operational holding (b)  4.95 lakh hectare

(iii) Area operated by number of farmers () 0.95 hectare

(iv) Average holding size (d) 9.97 lakh
" (@ 9.44 lakh hactare
Codes :
@ @) @) ()
@A @  ©® @ © | @qu/w»-aw

B) @ @@ @ (@)
C) @ @ @ (©
D @ @ O © :

1:5:111a?m@naﬁgﬂfﬁaﬁﬁﬁaﬁtﬁ%ﬁtmag%vﬁwwww‘ '

. SSLs S s I
() fearsdd w_v1 &1 FA drifa® &F%d (@) 55.67 @RI TRER
(i) WICATEE S T HA A ) 4.95 %1@ TR
(@) freml =t Tem ¥ darfem o | €  0.95 FRT
@)ﬁmaaﬁéTaﬁn ' @) 9.97 W=

o (o) 9.44 W@ TR
@ G (i) -(ib)‘
@ @ @ @ (@

B) @ (o) ) (d)

© @ © @ (@
| TBC(P) @ @ ® ©

P 2UP/I_C ’

‘ " P.T.O.




43. Which of the following statements ig not correct ?

@ The foodgrain production in 2020-21 in H.p. was 15.28 lakh M.T

(n) The production of potato in the year 2020-21 in H.P. was 1.97 lakh M.T
(tii) The production of vegetables in H.P. during the ve 2020-21 18.61
lakh M.T. . g ' year - was 61

(fv) The target of foodgrain pr B ' |
—— grain production in H.P. for 2020-21 was 16.35 lakh metric

(A) (i) only (B) All of thes
(C) None of these D) (i) and (i ;a
LU

fﬂt{fﬁf@ﬁ ﬁﬁﬁ'ﬂnmﬁ e T ¥ 2
(L) 2020-21 # f%m?ra TN H WM SqRA 15.28 @rE WS = o
@) femrae WRw § = 2020-21 #F e, I 1,97 W@ HeH A eql

(€279 T%‘?Taam 9%‘31' H wisll &1 Saed ad 2020-21 @ SR 18.61 @ HE =

. | n, ,) 7 ﬂ. !

Gv) Teo=a 9ew § @ ScoRA W @ed 2020-21 & fAU 1635 @ e =
o | ' . :

(A) (i) Dae (B) ¥ Wt

(C) T4 | i &l y (D) G IR (v)

44. Which of the following statements about tea production in H.P. is correct ?
(#) There are 5900 tea growers in the state.
(ii) Total area under tea cultivation in H.P. is 2500 hectares
(i) Tn 2020-21 tea production in H.P. was 11.45 lakh kilograms.
(fv) Small and marginal farmers are provided agriculture inputs on 50% subsidy

basis. e , .
(A) @), (i) and (i) _ ‘ : _(B) , (i1) only .
(C) All of these (D) @), (i) and (@v)

frmrae WY H 9™ IdeT & a) § rerared § ¥ hAE w91 e € 2
G) TsF F 5900 =W IEEEF . B | :

(ii) Wmﬁw#@ﬁi@aﬁa’hwmzsoo'%ﬁ%m%

(iii) 2020-21 T Temrwt Wy # W™ ST 11.45 W@ fRemTT ol

Gv) B2 iR E fFEE = 50% WRES B SR W SN TIE WM H S ¢
(A) (), (i) 3 @ii) - (B) (i) Shad

© 7w - D) @), Gid) 3R ()

TBC : 21/P/1—C : 39
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45. Seclect the incorrect statements from the following :
(/) ILP. has been assessed second top performer in t
Development and Public Infrastructure among Hi
(i) Bilaspur district has been ranked at number one on the bas
Good Governance Index (DGGI)-2020.
(i) Shimla district ranked fifth in DGGI-2020.
(iv) Hamirpur has improved its position to the fourth in terms of Tra
~ and Accountability Index. ‘
(A) All of these (B) (i) and (iii)
(C) (@) and (i) (D) (iii) and (V)
| frfafed 8 ¥ TAd FA H T HID ' .
\ @ 2020-21 % SR TEE T B o e e o SR Eres g
ﬁ@‘mﬁmm@@ﬁmwwmw%]
i) e GuER gEEE (SSSiems)-2020 F MR WA el =l uge T
® T € | . |
(i) Sresfemé-2020 ¥ ferwen forem wied ®WE W @ ‘
(iv) TR ¥ TRERi @R SaERE YAGh % AEA H MY wE W feafa A

erms of Human Resource

11 States during 2020-21.
is of District

nsparency

gur f&ar ¥ . .
(4) 3 =l o (B) (i) ¥R (iii)
(C) @) 3 (i) ' (D) (@id) 3R (v)

46. Select the correct statement/s about banking in H.P. :
@ _?SSger 2011 census, the average population per branch in the state ;vas
(u) The state has a network of 4422 bank Brafiches: |
(L.u) Shlm'la is the only urban centre in the state classified by RBI.
() PNB has the largest network of 530 branches in H.P.
(A) None of these ' ~ (B) (iii) only
(C) (i) and (iii) onl - ’
‘ ¥ - (D) All of these .
: 201?%;1?{.%1%?1 F AN H TE FA/RE B AT IR
o ST FOSgER, TS A wRt vmen S - SEEe 4059 ot
(_L_') T H 4422 3% wrenstt @1 Yeuw ¥ |
lii = LY. '
| ) o T A G W Hg ¥ ol wlond g g e
'émﬂamﬁmaﬁsmwﬁmmwm%' '

\ (A) w8
. & ;‘R‘f@ :im C(B) (i) F
TBC': 21/P1—C lll)‘ . (D) A |t -
, - 33 PT.O.

. ' \ i ¥
5 , . , -
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47. Which of the following is not the main objective of Rashtriya Krishi Vikas Yojana
— Remunerative Approaches for Agriculture and Allied Sector Rejuvenation
(RKVY-RAFTAAR) ?

@) To strengthen the farmer’s efforts through creation of required pre— and
post-harvest agri-infrastructure that increases. access to quality inputs,
storage, market facilities etc. and enable farmers to make informed choices.

(it) To promote \.ralue chain addition linked production modules that will help
farmers increase their income as well as encourage production/productivity,

(ii7) To attend national priorities through several sub-schemes. |

(v) To empower youth through skill development, innovation and agri-

entrepreneurship based agri-Business models that attract them to

agriculture. -
(A) (@Zii) and (iv) . . . (B) All of these
(C) None of these (D) (@) and (@GQ)

Frffan # & 9 TE F few AT R TS A S wEEe @
ferq, e gfes (RKVY-RAFTAAR) 71 Te1 3w 78 % 2
@) v gd SR K h AR F FH-ghEE @9 & fmiv & mem ¥ e
%w@ﬁwmﬁaﬁmﬁww,ﬁm,wgﬁmﬁaﬂﬁw
TEa aga § iR fearl @l gfed foses aA R § gew o ¥
(ii)@mﬁaﬁ?ﬁﬁém.f@ﬁmﬁ@maﬂm_m
mﬁ%ma—mamﬂ/mﬁmﬁﬁwml
(i) . SU-AAST F WA ¥ T wefiehared § o o
(i) et fomm, FamemR iR Hiu-vafaa s Fiy-=auE Hied & Aeaq ¥
Faredll WO S S 3% Hfe % fau Sehfiq wRd ¥
(A) (iii)-ai‘n(iv) (B) @ Gl
(©) T8 A FE & (D) () 3R (i)
TBC : 21/P/I—C 34
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48. Match List-I and List-II with regard to plan outlays (2021-22) and select the

correct answer {rom the codes given below :

. List-I ' ) IJiSt"]l
(i) Agriculture and Allied Services (a) 39921.49 crore
(@) Energy ®) 903.57 crore
(iii) Transport (¢) 2724.32 crore
(iv) Social services : (d) 929 31' crore.

(e) 773.30 crore
Codes :
@ @) Gu) @)
A) ) (@ (@ ()
B) @ B © (@
©) @ @ b)) @
M @ @ @ ()

el 9Remd (2021-22) @& Hay | -Iam
Wm@ﬂﬁmgﬁa: ?f‘ﬁ WHWWWW%&Q

3 .
O T ;fﬁ e - ) Kl
o - (@ 322149 =T
i m | | (b)  903.57 wﬁg '
o) TR Fet el @ 272432 w39
| o = d  929.31 EIUS
e | €  773.30 wig . |

O G) G Gy
(A) © (@ (@ (e) -
B) @ (@) @ (a)
El? @ @ ) @
)@ © @ (@)

35 P10,




50.

49. Which of the following

statements is/are correct ?

(z) The traditional council of Khampas is known

(iz) The common term for widow re-marriage used
(ii) The ‘Bushehr State’ v

(fv) According to Bhagaw
of ‘Brahma’.

(A) (zz) only : (B) All of these
(C) (id), (iii) and (iv) D) (), (i) and (o)

FrEfafad § ¥ Sry/snd s of § 2 .

@) aﬁmqﬁwﬁ‘wﬁlﬁ'%m@mw%l
@) e g favar gl @ faw vgw ame s e &)
(iii)‘ww'ﬁ‘tﬁ’m‘tﬁﬁ'ﬁwéﬁrmsﬂmml

(fv) WEd QWO F HEER, e @ safe s w9 oo @ @ ¥
(A) (i) Saa B ¥ w | |
(©) Gd), (iii) 3R (iv) D) @),.GE) IR )

Read the following sentences and select the incorrect one :

as ‘Shuzam Chungi’.

by Pangwals is ‘Doghri’.
vas also known as ‘Maon’ or ‘Mone’.

ant Puran, ‘Kinner’ trace their origin from the shadow

(z) St. Andrew’s Church in Chamba carries the influence of Scottish architecture.

(i) The architecture of ‘Manimahesh Lakshana Devi temple’ is ‘Indo-Aryan
Nagar style (Shikhar)’. Y | :

(iii) ‘Champavati temple’ in Chamba is built in ‘Graeco Buddhist art of Gandhara’. -

(tv) The brass idol. of the Goddess at Chatrari Shakti Devi temple in Chamba
~district is in the ‘Kashmiri style’. .

(A) @) and (ii2) ' (B) (iv) only

(C) (i) and @v) _ (D) 'None of these

@) <o # He dgg wd H whifey argHAl H GAE T |

(i) ‘wforeRer @eon ¥ W' Hoargehen ‘ge-em AR Wt (Rre) . w

(i) <=1 ¥ =g 6 YR & W sig wen’ # fAfAd B

() <=1 fo & o e W\ Afw F 3 1 Faw Ht A HER A’ H B

(A) (i) &R (iii) | (B) (jv) &aa
(C) @) IR (iv) (D) T A wE E
TBC : 21/P/I—C 36

sconned with CamScannnt




51. Choose the incorrect answer from the following :
(z) Abode of Goddess Mathi is ‘Chitkul’.
(i) A living geographical museum is ‘Lingti valley’.
(iii) Chasak Bhatori is the highest village in ‘Lahaul valley’ ,
(iv) The highest peak of the Kinner Kailash massif is ‘Jorkanden'.
(A) (iii) only ' » (B) (iv) only
(C) (@) only (D) (ii) only
frefafed § 9 Teld ST gﬁm
G) <at medt w1 faw faasga’ ¥ |
(i) T Sifaq e ueed fard =&’
(i) =THE e ‘@RI O R Hed Sen e ¥
Gv) fFR dam gda &t ol ﬁa‘rﬁ,‘sﬁ%@q' Tl
(A) (iif) Heet (B) (iv) Had
(C) (@) o (D) G) HEd
52. Select the correct statement/s from the following :
(©) Mahmud of Ghazni, made a raid on Nagarkot (Kangra) in 1008-09 A.D.

() Hiuen-Tsang stayed for sometime at Sirmaur with the monk J aya Guptam.

(i) Prince Nasir-ud-Din ascended the throne of Kangra under the name of
- Muhammad Tughlaq.

() The Nagarkot fort remained under the possession of Tlmur -e-Lang till AD

1043 | .
W @) and @ Ry Gy onte
(C) @), Gi) and (1) | (D) All of these

Frerfen % 4 T wem/mo w1 o R R
D W*Wﬁmosw% H TR&R (FHTer) W o A7
zz)mmm%mf&ﬁr{ﬁﬁxgmw*m“@'

i) TR - - TR e % A @ s # o WA
W) IR 1 forem 1043 ¥t e oo F w A T

EA) (G) 3 (it (B) (iv) Fo
Tho 9w, (&), R (ig) o 3 ?“ﬂ - PT.O.



53. (VVhich of the following statements is/are not correct ?
1) The battle of Nadaun was fou ‘
g Ve ht bet j i
nid fis T _ ght between Raja Bhim Chand of Kahlur
((n) In the battle of ‘Dhalog’ RajaiJanardhan of Chamba was defeated
1i1) Raja of Hindur, Hari Chand was killed by Guru Govmd Singh in the batt]
of ‘Bhangani’. e
(fv) The Gurkhas defeated the Kangra forces at ‘Mahal Morian’ in 1806.
(A) None of these . . i (B) All of these |
(C) (iz) and (i) (D) (Z) and (iv)
frfafad § @ ®EAy/SFS YT T8 T8 o8 7
@) Wﬁwﬁw@wﬁnmﬁw@@aﬁaaﬁﬂiﬁn
() ‘=ArT’ B gg § Hal & TSN FART Hl BR G|
@) féx & <o, R g W s ﬁagréﬁu‘o"ﬂﬁafﬂﬁwﬁmﬂ'
Gv) 1806 # ‘meel W@’ H TR@rei A HTel A Bl T

(A) T8 ¥ w18 T ®) T wdf
(C) (@) 3R (i) D) @) 3R ()

54. Select the correct statement/s from the following :
(i) Khoksar is located on the old trade route from Indian plains to the

Asia.
(ii) The coins of Adumbras sh
(i) In Mahabharata, it is mentioned that t

sage Vyas.
(iv) The tribal republics
(A) (@t) only

(C) () and (v)
Srefafeq 9 98 SoA/H B FTqT FifTT

(i) WWW@W@WW@WWmﬁWW%I
(i) ¥gEn & fogst § wal 9 € {6 T 7z STy e fsy w1 SUE |

(iti) "Havwa =, mm@mw%%%ﬁmmwm%l

(iv) femm@ R & SHer o (EE ST a1
(A) (LL) W (B) (LU) W

| (C) () W (v) (D) (i) 3R (i)
! TBC : 2/P/I—C 38

of H P. were ‘Sangha Janapadas’.
(B) (iv) only
(D) (@) and (ii1)

Sconned wth CamScannnt
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West

ows that the tr1be was worshipers of Lord VlShIlu ,
he Adumbra is the name of the -




is/ar t ?
Which of the following statement/s about Kullu is/are not correc

55. ; _
() Kullu remained part of Punjab state Flll '31513' OCtOlbgc;é 1966.
(1) Kullu was a sub-division of Kangra district since : : i
(IIT:IIT) Alexander Cunningham and A.T. Banon were the first Europeans to visi
Kullu in 1820 A.D. ' ' h
(iv) The idol of ‘Raghunath ji’ was brought from Ayodhya to Kullu during the
reign of Raja Jagat Singh. :
(A) @ii) only . % - (B) @) 9111)’(. ;
(C) () and (iv) ‘ (]?) (1) and (iv L
m?aﬁﬁﬁmﬁﬁaﬁﬁ@ﬁﬁw@ﬁmm@q@% ?
() [ 31 IR, 1966 T WSS A h feww W@l
(i0) mw%ﬁmﬁﬁém@m—m o | -
(ii) SRR HEH SR T I 1820 . H oo i AT BT AT TG JUUA |
(v) T STA fHE & IETw H Ty St @t gid oriemn § e o TR i)
&) @ Faqa (B) (iii) Haa -
©) (@) IR () D) (@) 3R ()
56. Consider the following statements : ~ :
(1) Bajrang Punia has become the first Indian to win 4 medals at World
Wrestling Chamionships. o ‘
(2) Ujjain has been nominated as the first ever SCO Tourism and Culture
Capital during 2022-2023. ' ' |
3) gﬁﬁlﬁg my has decided to shift the'A'rmy Day Parade of 2023 to Central
(4) Chhello Show film has been announced as India’s official Lo
: entry t
Which of the above statements are correct ? — At
(&) (1), (2) and (3) . (B) (1)-and (4)
(C) (2), (3) and (4) D) 1),
L ) (1), (2), (3) and (4)
(1) e fovg et < # 4 T e
(2)3““’“@2022-2023%%%&% & I e RS 5 T ¥
w9 3 T THLST e ot Gepfn qoerh
(3) Wl F % 9003 ,
o & ﬁw@%ﬁnwwﬁ%wﬁmﬁvﬁq
(4) B w freq 5 a :
fran T % 3“@‘2023’?‘Wﬁamwmm¢wﬁw
SR ¥ ¥ g T T E -
(4) (D), @) =i (3 B!
(© @ @) sk (4 ) (W) 3R (4
TBC : 21/p1_¢ | D) (1), (2), (3) 3ir (4) |
~ 39 PT.0,
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57. Consider the following statements :
(1) Global Fintech Conference in 2022 was held in Mumbai.
(2) Tripura State has launched ‘CM da Haisi’ web portal.

(3) Rohit Sharma has surpassed Pakistan Captain Babar Azam in the recently

ICC T-20 rankings.
(4) District Disability Rehabilitation Centre is an initiative of Union Social
Justice and Empowerment Ministry.
Which of the above statements are incorrect ?
(A) (1), (2) and (3) S ® @, 3 and @
(© (@ and ) D) (1), @), 3) and (4) -
Frofefen ol W feR W@ L | |
(1) 2022 H Hfveew fRAeh WO Hag H ST fwer |
(2) Frga woa ¥ diea @ E A e e e
(3) Ufea vl ¥ @A & A ICCT-QO%ﬁ_W%W'w‘Waﬁ%
o R ¥ . ' |
ummwﬁm#%ﬁwmwmﬁwmwwﬁwm
g | |

IR A HEA FHYF TAd § 2

(A) (1), (2) ¥R (3) ® (2), 3 3R (4)
(C) (2) &R (3) D) (), (), @) 3@

TBC : 21/P/I—C ‘ : 40
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58. Consider the following statements :

gana State has announced India’s first Breakfast scheme for

(1) Telan

government school students.

The term Prompt Corrective Action is related to framework under which

(2)
Banks with weak financial ratios are watched by RBI
s first Swachh

(3) Amongst Union Territories Puducherry has become India’
Sujal Pradesh.

(4) Prime Minister has launched national logistics policy:
‘Which of the above statements are correct.?

(A) (2) and (4) B) (1), (2)_and (3)

©) (2), (3) and (4) @) (1), (2), (3) and 4)

ﬁrsff‘?{f@ﬁmwmﬁaﬁﬁﬁﬁ

amﬁmﬁmﬂ%mwaﬁmmmaﬁm

(1) e A |
&l % | Gl »
(z)sﬁagmméwwaﬁ@ﬁaﬁ%mmmﬁﬁhm
maﬁmmﬁﬂﬁmwr@%mﬁ%n |
(3)ﬁmﬁ@ﬁ3§€ﬁwmmmwmaﬂw%l
(4)umﬁﬁmmﬁw.ﬁ%l

swf § A FR w2

e B (1), (@) R E)
C
TBC( sy m"@ D) (1), ©2), (3) 3R 4)
e | 41 | PT.O.

b
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9. Consider the following statements :

1 s]is s s "
(1) Reliance has been conferred with the Rajbhasha Kirti Puraskar’ for 2021-22,

2) Satis 1
(2) | itish Adiga has been conferred with top French civilian honour.
(3) ‘Chandler Wobble’ is related to B]

(4) The new Naval Ensign fe

ack Hole.

g atures the national emblem inside blue Octagon shape.
Nhich of the above statements are incorrect ?

(A) (1), (2), (3) and (4)

(C) (1), (3) and (4)

RS ISIEC FYHI T fa=x HIfSTy .
(UW 1 2021-22 %ﬁq‘mmaﬁﬁ{w' QA wofya fea T ®
(2) wam1 sHfem 1 wid Wit T oM @ gt fea @ 3

(3) ‘TiseR afed’ <% o9 ¥ 9 B

(@WWWﬁ%Wﬂﬁwma}mmﬁam%l

SUgR H § SHY HYF e § 2

(A) (D), (2), (3) 3R (4) B) (@), (3) 3R (4)

(C) (1), (3) ¥R (4) | D) @), @) I B

'60. Which of the following statement/s about ‘State Food Safety Index’ for the year

2021-22 is/are correct ? .

(1) Among the large states Himachal Pradesh got 4th rank.

(2) Among the small states Goa got 2nd rank. :

(3) Among Union Territories Delhi & Chandlgarh got 1st and 2nd ranks
(A) (1) and (2) only : B)*=@) and (3) only

(C) (1) and (3) only : D) @ only
SefafEg § & SAEY/A S99 T @E el gahe a 2021- Zzﬁaﬁﬁﬂﬁ%ﬂ ?
(1) =2 e feme wRw @ S e e @
(2) B T F Wen w gEd e e
(Mﬁammﬁﬁﬁﬂﬁﬂa@ﬁﬂaﬁwaﬁ{wwml

(B) (2), (3) and (4)
(D) (1), (2) and (3)

(A) &ad (1) 3 (2) ' (B) ®ad (2) 3 (8)
(C) Faa (1) 3R (3) (D) ad (1) |

sconned with CamScannnt



61.

' ﬁﬁ%{f@ﬁawuiﬁaﬂaﬁﬁﬁ:‘

62.

Consider the following statements :

(1) g‘annl Nadu ’S.tate is in the process of developing a Dﬁgong (Sea Cow) reserve.
2) “Blue Book” is the manual of National Security Guard.

(38) ‘CiSS application’ under Baal Swaraj portal is used in the context of -

rehabilitation of children.
(4) Tadoba-Andhari Tiger Reserve (TATR) is located in Madhya Pradesh.

Which of the above statements are incorrect ?
(A) (1), (2) and (3) ‘ (B) (2), (3) and (4)
(C) (1) and (3? (D) (2) and (4)

(1)aﬁm@ﬂw@ﬁﬂ(ﬁm)ﬁﬁﬁfﬁmﬁmmaﬁmﬁ%l

(2) ‘= 3 T G ME H G T

(3)%%%.@6@6‘14?@3‘@@@%%’@%@%%%@@
§ fa o€ R , : -

(4) area-siard TR o (FAem.) 7w wew A e gl

wﬁﬁﬁﬁmmmm%? | |

A) (1), (2) 3 (3)

(@ (1) ¥R (3)

Consider the following statements :

B) @), @ @)
(D) (©2) R @)

(1) Bangladesh will host Women’s Twenty-2b Asia Cup 2022.

(2) China has successfully cloned the wild Arctic wolf for the first time in the

world. _
(3) In 2023 BRICS summit will be held in Bra_zil.

(4) Equal Pay International Coalition is an initiative of G-20.

Which of the above statements are correct ?

(A) (1) -and (2) - (B) (2) and (3)

(C) (3) and (4) | - (D) (1) and (4)

frafafea woFl W foEr wifsd @ '

(1) "Ry Afgen d-20 TRET FT 2022 HT ASEET HAM

(2) :ﬁqﬁmﬁ%gﬁm § gell AN el amefew Afed F GEAAEES T

|

(3) 2023 & forer forer weiver smsfter & <y |

(4) T A ST TEE 20 T v

SedF H ¥ FAY R WE E 2

E‘é; g i Z; O ® @#ERE)
D) () IR (4)

TBC : 21/P/— ‘
RS 48 | PT.O.



63. Consider the following statements -

(1) Giorgia Meloni became {he first female Prime Minister of Italy.

(2) Tajikistan hosted the Shanghai Cooperation Organization Summit, 2022,

3 .
(3) UAE has signed an MOU with China’s space agency to work together on
moon missions.

(4) Devastating storm Nanmadol had struck Laos

Which of the above statements are incorrect ?

(A) (1), (2) and (3)

(C) (1) and (3)

frefafen ol w e 51t

(1) TS At secht # weel wfeen wom T

(2) WS 3 viord edm wed foraw weiem, 2002 1 HoEE

(B)Wmmﬁmmﬁwwmamwﬁfﬁqahﬁma
Tl & WY TF A W9 W sER G ¥

(4) Tl e TS 3 el w1 wafaa R e
S H | HY FYH e & 2 |

(B) (2) and (4)
D) (2), (3) and (4)

A) (1), (2) 3R (3) B @@
(C) (1) ¥R (3) p—- D) (@), 3) @)
64. Ukraine shares borders with Wthh of the following countries ?
(1) Belarus } Romania
(83) Hungary ¥ e (4) Georgia
Select the correct answer using the codes given below :
(A) (1), (2) and (3) only (B) (1), (3) and (4) only
b ©) 1), (2) and 4) only . (D) (2), (3) and (4) only
| T, Pretfeten § 3 f i & W W g 2
'\ (1) SAEw - (2) YmitEn
(3) T () i
T K& ™ w2 w1 W@ Wl W g
(A) Faa (1), (2) AR (3) C(B) ®ad (1), (3) IR (4)
(C) F=@ (1), (2) ¥R (4) (D) ad (2), (3) 3R (4)

TBC : 21/P/I—C 44°




5. Consider the following statements :

(1) UNICEF appointed Vanessa Nakate of Uganda, climate activist, as the
Goodwill Ambassador of the UN Children's Fund.
Chief

2) ‘Meritorious Service Medal’ to Admiral_Sunil Lanba, former Navy

of Indla was awarded by Smgapore

Germany is the host of the World Water Congress and Exhibition 2022.
powered UAV of South

(3)
(4) Qimingxing-50 is the name of the first fully solar-

Korea.

Which of the above statements are correct '7

(A) (1) and (2) (B) (2) and (3)

(€) (3) and (4) D) (1) and (4)

frefafed wedl W =R Sifsa

(1)W%wﬁm$ﬁaﬁféﬁww@aﬂg@aww@3wa§m
REECRERESERIE

(2)mmw%@ﬁmm@mgﬁamﬁ R CICINRE R CE 13:
weta v ) ' | :

(3) it forva Tt B ol wee 2022 W Ao B

(4) lemgmng50<f&4vrﬁﬁq1@mt@m@wﬁ@mmw&.\,m
T %)

: Wﬁﬁm¢mw
ERRROR 1)

} | ©) (3) s 4) |
TBC : 21/p7_ ‘- D @) sk @) -
I . 45 . . .

(B) (2) 3R (3)




66. Consider the following statements :

(1) U.N. Secretary-General Antonio Guterres appointed Roza Otunbayey, 5
|

former President of Kazakhstan as his new special envoy for Afghanistan_ |

(2) Russia has become the first country to approve the world's first needle.
free, inhaled version of the COVID-19 vaccine.

(3) As per the latest figures from the IMF (September 2022), France economy
is the fifth largest economy in the world.

(4) China is the President of the G-20 in 2022.

Which of the above statements are incorrect ?

A @, @and @ ® (@, 3 and @

(C) (1), (3) and (4) D) (1), (2), (3) and (4).

| Frefefam S ™ R A |

[ (1\)mwmﬁam@mamﬁwammmﬁm@¢m

| & o 9 T T SgERE B FE

(2) w9 FfaE-19 JT B A F TeA Gi-T, TIRES W F A 3 A
et R ST R ' : |

(3)3113‘@@3(?9?\3’{ 2022) @WM%W Waﬁam@ﬂiﬁm'

S et T ag oo ¥ -

(4 2022 # < H-20 H A T

IEE H 9 HHAY HYH TTed 7.

A) D, @ R’ @) (B)

© W @@ @ @@, 3R

(2), (3) 3 (4)

TBC : 21/P/I—C . 46
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67. Match List-I with List-II :
List-I
(Winter Olympics Games
Beij_ing, 2022-Country)

(@) China (i)
() Germany (z1)
(¢) Norway (iii)

(iv)

(d) United States of Amerlca

Choose the correct answer from the options gwen

Codes :
(a)
(111)
(iv)

® © @

@) @(v) @)

@) @) @)

© G O @) (v)

® 6 @ @) @)

Euip I SR VR R aﬁm
g |

(o sil e s, 2022-—'?.’91)

(@ =M y

(b) R

o :ﬁ (i)

@) ¥ T | (™

2 fed T el A A W wR w1 g R

@ @) @ @

Gi) @) @) )

@) Gi) G) ()

@ 6O i) )

@ Gi) @) (iv)

THC . 21/P/I~C

(A)
(B)

i)
- (@)

(A)
(B)
(C)
D)

47

List-11
(Medals won)

37
25
27
15

below :

get-11
(TEF ST

| =0

25
27
15

P.T.O.




68. The Airavateshwara temple at Darasuram was built by :

(A) Chola King Rajaraja-II (B) Chola King Kulothunga-III
C i : ' ‘
(C) Chola King Parantaka-I (D) Chera King Nedum Cheralathan
YRR, 1 TaavaR Al &1 foior frgy o o1 2
(A) = I]Gﬂ TST-11 (B) < T FHengmM-1II
(C) =i TS 9U=<deh-1 (D) =R TST YgH SqeH
69. Which among the following Drama/Book was not written by famous poet Bhasa ?
(A) Karnabhara (B) Urubhanga
(C) Dutvakya (D) Shishupalvadh @Hm&mwcw
frafafed § @ SHE AeH/gas g wfa g g fafad @& e 2
(A) FR @ we
(C) Jar (D), Feregarera

70. Which pair is not correctly matched ?

Foreign Traveller Country associated

(A) Pietro Della Valle French (France)

(B) John Fryer England
. (C) Niccolao Manucci '_ Ttaly
. D) Joan’nes-De-Lae"t - Dutch
i < (g W@ AT T & 2 |
(A) faon e o e (FE)
(B) S WA TAUS
(C) Freriall wet | zoelt
) =

(D) SA-SI-d™E

TBC = 2]./P/I—C. : 48
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71. Who was the author of the book “Tarikh- i-Rashidi”
a Haidar Dughlat

(A) Ahmed Y'ldgam (B) Mirz
(C) Gulam Hussain ‘ (D) Shaikh quullah Mushtaqui
UariE-T-URET g 6 é’@'aﬁ 2= o1 ?
(A) ¥EHG AT ‘ B) st &t A
() T T (D) @ RHIIE

79. Who was the founder of “Indian Association for the Cultivation of Science”
(1876) ? : :

(B) Mahendralal Sarkar

(A) C.V. Raman
(D) Ashutooh Mukherjee

(C) Father Lafont
'3 S “'Wﬁm (1876)Eﬁrmﬁmm7
© - (H q}a’aﬁ THR :

(Cimam? (. (D)amyﬁﬂg@ﬁ

f India and his rule—the beginning of a

73. Who said, “Lord Ripon, the savior 0

Golden age in India” ?

(A) Flofence Nightingale , (B)' P.E. Roberts

(D) Eric Stokes

(C) Lovat Frazer ,
mﬁa@ﬁwﬁ,"‘wwm"mﬁr{mmﬁ yRd H @i

1 S a2
(A) T AR | @ TE e
(C) T WeR T D) EH B
74. aid, “Raj " v g ‘ ) rea
Who said, “Raja Rammohan was the only person in his time to realise completely

the significance of the modern age” ?

(A bi '
| ) Aurobindo Ghosh | (B) Rabindranath Tagore

(C) Sumit Sarkar - (D) Barun De

et el i o '

qg | el

- plite Wﬁ@wﬁméﬁa@%wgﬁmgw@nﬁ
(A) Rfge '

i L ®) e TR

RRAR L . @ wm R

! ~ 49




75. Which among the following books was not written by Dr. B.R. Ambedkay - |

(A) The Annihilation of Caste

(B) States and Minorities
(C) What Congress and Gandhi have done to the Untouchables

(D) India in Transition |
Frafafed § ¥ S T o LR seER g fafed & o 2
A) T WA siw FRe |

(B) V¥ e AEAIRES

(C) E@Emﬁﬂ@m%ﬂ%am f§ ere=eed -

D) 3{3’“ ™ fSeE
76. Which pair is not correctly matched ?

Education Commission/ - Year
Conimittee. |
* (A) Sadler University Commission = 1917
® HunterMiaRatbn bl gl | o857
(C) The Hartog Coﬁmittee g . 1929
(D) Indian Universities Act 1904 |
R Ser (W) w4 gﬁfw wﬁf € 2 |
fyren awmat/AEld | EL]
(A) deer favafaared ST 1917
. (B) T foien sm@m e
(©) = 1929
(D) e favafaerea sfufm 1904

TBC : 21/P/1—C 50
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77. Where was the “Indian Independence Committee set up by Lala Hardaya

and his friends ? -

(A) Rome (Italy) (B) Berlin (Germany)
(C) London (England) (D) Paris (France) o
e SR e & g sl e wfa e we
T e 2 | .
(A) W () (B) afed (S
(©) it () @) AR (=) i
73, Milam glacier is located.in : (AN el
(A) Karakoram regioa _ (B) Pir Panjal region
(C) Nepal region ' - (D) .'Kumaun Garhwal region
(A) R & | (B) dR dme &
(C) U@ &% # | (D). A Teerd &7 H
79. Zojila pass is locafjed in : ' |
(A) Punjab Hirﬁalayas . (B) Kumaun Himalayas .
(C) Nepal Himalayas ' | '(D)_ Assam Himalayas P
Sicfren = fer ¥ 3 ' |
(&) v femme § . ® % ferwem i
©) et femera & () s feeE #
80. Vadinar oil reﬁner& is alanaged by : E
(A) Reliance Industries ' (B) Bharat Petroleum
(C) Essar 0jl Ltd. ~ . (D) Hindustan Petroleum
mﬁagﬁwwmgﬁmmm%: |
@) oy toehio gm0 (B) T Sier B
TBC(.C) R S e ‘ o R e 'E-W P.T.O.
P 2UPI—C | 51

RN

sconned with CamScannnt



81. Which of the following countries is Jandlocked ?

82.

83.

(A) Peru - (B) DBolivia

(C) Surinam (D) Ul'uguai’

freffe § @ @b T e Y o g ?

(A) 9% - (B) =fafam

(C) =M (D) T |

Where are the Balearic islands located ?

(A) Mediterranean Sea (B) Black Sea

(C) Baltic Sea ‘ | (b) North Sea

IARE T wE wel W fem § 2

(A) yFeT R (B) el IR
(C) wifee® WrR © v W

Turkey is located between :

(A) Black Sea and Caspian Séa

(B) Black Sea and Mediterranean Sea |
(C) Gulf of Suez and Mediterranean Sea
(D) Dead Sea and Bl_ack' Sea

o Frafrfen § @ frad wer fem ¥ 2
(A) T IR R a‘:ﬁcqm TR

(B) @Ten WR SR qEeA AR

(C) WS & @t 3R JHe |

(D) Jd WrR R el TR

TBC : 21/P/I—C ‘52

sconned with CamScannnt




84. Flemish are the tribes of :

atie

(A) Croatia (B) South Africa
(C) New Zealand (D) Belgium

wfigr SESI BT WY ¥

(A) @R § (B) wfeolt ST q

(©) =ere ¥ ) e &

e a sequence of the following countries from North to South :

85. Mak

(1) Romania (2) Bulgaria

(3) Ukraine (4) Greecev

Choose the correct answer from the options given below :

@A) @), @), 3), @

® @), 1), @), @

©) @), (3), @), (1)

D) (3), @), @, DV .

1 Ro T T W SR Y S @ wa e
(1) I (@ TR
3) T W B @ T
ﬁﬁumﬁwawwwwﬁm b
(4) (), @), (3), (&) o
(B) (3), (1), (2), (4)

© (@), 3), @, (1)

D) @), @), @), 1)

. — 53 :
| P.T.O.




86. Match List. T with List 1T :

List 1
(Sea)
(@) Black Sea
(b) Red Sea
() Yellow Sea
(d) Caspian Sea

List II
(Country)
(1)  Bulgaria
(i)  China
(ii1)  Eritrea

(tv)  Kazakhstan

Choose the correct answer from the options given below :

@ ) © @
A @ G G Gi)
B) @) G G) (o)
C) @ @) G) G
@ @ ) @ Gi)

T LW g I e s it

=t I
(FTR)
(@) =Tl E9FR
(b) W AW
(¢c) Wd |FR
(d) S TR

izjtn

(=g)

-

O MR llEe|
L) =M
(i) sRtfen

(fv) HelIfhE

3 Ry T freed § A wE W g R

(@ @ @©© @
(A) @) Gu) @) G
B) G Gu) @) Go)
(C) @) @) @) (o).
(D) i) Gv) @ @)

TBC : 21/P/1—C




g7. Match List T with List IT :

List I List II
(ipveral) (Place)
(@) Mica (i)  Khetri
(b) Bauxite - (i) Hazaribagh
(¢) Manganese (iii) Palamau
(d) Copper (iv) XKeonjhar

Choose the correct answer from the options given below :
@ 0 @ @
A @) @) @ @
B) @) @) Guv) @)
© @ @ @O G
D) Gz) @ @ (o)
=L gE 0§ faeam wifss ¢

T o Cgs oI
@ (TrT)
(@) A9®w P
(b) TS | ]
()) —n ° i) BSRiam
0 B .
: () qreTy
d) dman ’
(iv) R

R T e § Y g & FiE
@ @) () (@ . ‘
(A) (€713 (v) ) (ii)
B @& Gy @ o
© @ @ @ G
TBd .(D) i) Gy @) (G
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o 88. Match List I witAh List II :

i List I List I

| ! (Dam) (River)

[ . )
i (@) Nagarjun Sagar @) Mahanadi -

| (b) Matatilla - (i) Barakar

(¢) Maithon (iit) Krishna
(d) Hirakud : - . () .

Betwa
Choose the correct answer from the options given below :
(@ @) @© @ |
(A) @) @ G (@)
B) @ Gv) G G)
(©) G Gv) G) @)
D) Gv) @) GE) 6@
T I g I 9 faem s

1 i
(aten) - ' (D)
@ TR @ e
(b) WEEET (if) SR
@ P G Fm

(@) W - (fv) sidar

F feu ™ Reed # A wE W g wRE
@ ® © @ |

(A) Gii) @) G- G)

B) @) Gv) @) @)

(G i) Gv) @) @)

D) Gv) G) G 6
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Qv 1( (9}

given 1n the Tenth Schedule of the Constitution ?

(A) Speaker Legislative Assembly
(B) High Court
(C) Governo'r

(D) State Election Commission

AfatE=
mﬁmam%mﬁmwﬁﬁq @rqﬁmeﬁmw%

P e TG

(G P
(A) faum |91 AN
(B) S=d =IEAd
(C) T=aUTAd |
(D) T=g fam=a
© 90. Which Article of the Constitution of India bars a Mémber of Parliament from

holding an ofﬁce of profit under the Govemment of India or the Government

of any State ?

(A) Article 100(1)(b)

(B) Article 101(1)(e)

(C) Article 102(1)(a)

(D) Article 103(1)(d)

Wmmmﬁm—mmﬁﬁmwﬁ memmwﬁ

TR T Tew T ¥ 2
W IR 100(1)(b)

B 5 1011
©) = 10201)(0)

; D) st 103(1)(@) |
’ 8C : 21 c ' 57
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91,

What is the object of cut motion ?
(A) To reduce income tax

(B) To reduce excise duty

(C) To reduce expenditure in the Budget prOPOSalS

(D) To reduce plan expenditure

FIAT TG H RN RYG A T 0

(A) EFH 1 H2A | - (B) WWW
(C) =5 wwE & wel § HI (D) @ ==l # R

92. Through' 73rd Constit_utional Amendment Act 1/3 seats for the women- are |
reserved in the Panchayats under which Article ? -
(A) Article 243-A (B) Article 243-B
(C) Article 243-C (D) Article 243-D -
Hﬁmémamm%mumﬁmah%gmwﬁhwwmmaﬁ
® o R TR ? oo o 1 |
(4) FTRR 2434 (B) TR 2433
(©) FRR 243G __ (D) =R 243-D .

93. When any official does n.ot perform his duty, High Court/Supréme .Court can
issue which writ ? | |
(A) Habeas Corpus . (B) Prohibition
(C) Mandamus ‘ (D) Quo Warranto
vﬁaﬁé afwﬁaﬁmmﬂﬁﬁéﬁﬁm%aamwmﬁﬁm

FA-T oRY W H ¥ 2 | |

(A) o< wAERT - (B) vy
(C) TTHRTI © (D) AR gew

TBC : 21/P/I—C , 58
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s i : . ocorvations for Economically
94. Which Articles have been inserted to provide reservations O

Weaker Sections (EWS) in 2019 ?

(A) Articles 15(1) and 16(1) (B) Articles 15(2) andJ ig((?)

) anc
(C) Articles 15(4) and 16(4) (D) Articles 15(6
3WW@mﬁ(§gﬂ@)aﬁmgmmmﬁ%@ﬁF{ FT=R1 hl A
fear T ? . ‘
(A) oTF=R 15(1) T 16(1) (B) @ig=i< 15(2) T 16(2)
(C) TR 15(4) T 16(4) . (D) TR 15(6) T 16(6)

The purpose of an adjournment’ motion is to :
(A) Seek the leave of the House to introduce a bill

(B) Censure the Government

(C) Propose a reduction in the budget o
(D) Draw the attention of the House to a matter of urgent public importance

T YEE 6 3e9d 1 ol § 7

(A) sIfufrET T 89 98T Q E EeFﬂ

(B) ¥&R W T9 fefer= el

(C) &oie § Tt T U HILA

(D) 1 % i Hewqyl favE W WHER H AR FHT

96. Judiciary in India enjoys the power of Judicial Review on the principle of

“procedure established by law” which means': ,

(A) Judge in India can declare a law invalid simply because in their opinion
the law is not due

(B) Judges in India can question the validity of undue law.even.-if it is within
limits of the constitution |

(C) Judges in India cannot questlon the vahdlty of law prov1ded it is within
the limits of constitution

(D). None of the above

anwﬁmyﬁﬁwmafw“ﬁfumwﬁﬂm”*ﬁm

TWE Fwdt ¥, e ad §
(A)w@mmmwﬁmwmwmﬁaﬁﬁamw%wﬁ

e fqer § 98 oFEvdE §
(B)wmzﬁmmwaﬁaﬁmwm%mwwaéaaﬁﬁamm%m%

% et 8 @
©) w@%ﬂ%ﬁ%ﬂmﬁwmwﬁ%aﬁmﬁ@mﬁﬁ%

D) Sugam § § w3 7t
' 21/P/I—C
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98.

Regarding the Interim Government of 1946 which of the following 1s 110t correct 9

(A) Jawaharlal Nehru was the Prime Munqlm/lload of the Executive Counci]

(B) Jawaharlal Nehru was designated as the Vice President of the Vlceroy’s
Executive Council

(C) The Viceroy continue to be the Head of the Executive Council

(D) The members of the Indian Government were members Aof Viceroy’s

Executive Council

194GEﬁdi—mwmqﬂ{a?‘aﬁﬁﬁﬂﬁﬁw@q@% ?

(A) ST YeE wuE y/@Eed ohug @ wHE 9
(B)W%ﬁﬁwaﬁmﬁmmwwamwm
(C) T FES qREg H TI@ o & |
(D)Wmﬁwmwaﬁmﬁmaﬁwﬁ

What do you understand by “Zero Hour’ in the Indian Parliamentary Procedure?

(A) The time at the end of the question hour and before the debate on other
agenda of the day

(B) Time just before the qﬁestion hour

(C) When any special privilege motion is accepted

(D) First hour of the sessioﬁ

wRda godta wiwar # CyEee’’ | SuE @ AfiuE w2

(A) YT & A6 9 I FEGH T a6 q wd h g

(B) WeTEd 4 & e H WA

() @ frdl foimfeehR &1 T&™ WiHR T 7

(D) & & Tl G
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99. What constitute definition ofMonoy Bill under Article 110 of Indian Constitution ?

The imposition, abolit; o N .
(A) p » abolition, alternation in regulation of any tax

(D) All of the above
Wﬁfaw%@no%wﬁmfﬂmﬁqﬁwﬁwmm ‘
g ? |
(A)W’ﬂwwarmm W‘Tﬁaﬁaawﬁﬁamm@
(B)Wmmmmmm%mﬁma

(C) maﬁmﬁmﬁmmmmﬁmﬁm@m

D) S9ge @t

100. What is the current position of representation of Anglo-Indians in the Lok Sabha ?

é

(A) Two Anglo-Iﬁdians are nominated by the President

(B) Orlle‘ Anglo-Indian is.' represented

(C) . Nomination of ' them has béen‘done away With by 104th Constitutional
amendment |

(D) They are nominated as 'per their populatmn

mamﬁaﬁmﬁmmﬂﬁ%qﬁﬁfmaﬁwﬁuﬁ% ?

A)Wmam—wmmm%

®) @ s s F &

O W % 1044 e g g A R R
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